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0-0005

1)
9,487,841
2)
8,679,120
3)
8,679,120
4)
m3 1,215,600
( ) N IR R
1,200 mB3 1,215,600 05121
4)
m3 7,463,520
3 D e R K B
DI D 1.0km (0.R2km )
| 1,200 mB3 937,800 05121
1,200 mB3 135,960 05121

05 -

|
* * * * * %

-00004-10



0-0006

( )
50,000m3 0 0]
1,200 mB 254,160 05121
3 D R R
DI D 49.5km (22 5km )
| 1,200 mB 4,071,600 05121
1,200 2. 064,000
2)
808, 721
3)
808, 721
4)
808, 721
25 261,000 05121
6m 0 g
50 31,200 05121
6m 0 g
25 32. 150 05121

05 -

|
* * * * * %

-00004-10



0-0007

(
2.5m 0
30 m3 135, 750 05121
””””””””””””””””””””””””””””””” 05121
30 107,730
(
2.5m 0
30 m3 135, 750 05121
( )
«C ]
60 m3 53,562 05121
1 2
3 ( ) I R R R
DI D 1.0km (0.2km )
‘ 30 m3 23,445 05121
2 3
3 ( ) I R R R
DI D 1.5km (1.0km )
‘ 30 m3 28,134 05121
9,487,841
655, 000
655, 000

05 -

|
* * * * * %

-00004-10



00008

10,142,841
777777777777777777777777777777777777777777777 3,249,000
13,391,841
777777777777777777777777777777777777777777777 2,452,531
7777777777777777777777777777777777777777777777777777777 4,628
777777777777777777777777777777777777777777777777 2,457,159
15,849,000
77777777777777777777777777777777777777777777 1,584,900
17,433,900

05 -

!
* ok ok ok K ok

-00004-10



SPK23040001 -0001
( ) 1 m3
28. 44% 59.55% 12.01% 00 % 1,
( ) ( ) )
( ) ( ) MTPCOOO f
2 28. 44% 8,190 2 7, MOUBTOO0OAK
0.281/ 0. 2m3 0.281/ 0. 2m3
( ) RTPCO0O0O0(
59.55% 19,320 25, RUPTO00O0(
TTPCOOO 1
12.01% 144 TEBTO00O01
EPOO1
1,013 0
A=1 B=5 ( )
E=7
MTPCO0O0O6 2 = I / Yy o+ = 1.1)
=713 * | (690 / 180) + (5,478.0) 8, 190
1,012.6555 = 1,147.4000 *
([ 28.440/100*8,190//7,700]) * [28.440/28.440]
+ ([59.550/100*19,320/25,300]) * [59.550/59.550]
+ ([12.010/100*144/138]) * |[12.010/12.010]
+ [100-28.440-59.550-/12.010]/100

05 -

*xxxxx_00004-10



0-0010
SPK23040002 0 -0002
( ) DI D 1.0km (0.2km ) 750m 1 m3
25. 13% 61.92% 12. 95% 0.00% 85
( ) ( ) ( )
[ ] [ ] MTPCO0O001 7"
4t 25.13% 7,7934t 7, MZBT000 7"
( ( ) ) ( (
( ) RTPC000(Q7
61. 92% 17,535 21, ROUPTO000(Q7
TTPCOOO13
12.95% 144 IT¥FBTO00O013
EPOO1
781.5 0
A=2 B=5 0. 28 m3( 2m3)
c=1 ( ) D=1 DI
F=5 1.0km (0.2km )
MTPCO00017T1 = o ( / Yy o+ * 1.01) +
= |/507 *|(830 / 180) + (5,225.0) + 233 = 7,793
781.4956 = 852.1000 *
([25.130/100*7,793/|7,323]) * [25.130/25.130]
+ ([61.920/100*17,535/21,100]) * [61.920/61.920]
+ ([12.950/100*144/138]) *|[12.950/12.950]
+ [100-25.130-61.920-/12.950]/100

05 -

*xxxxx_00004-10



0-0011
SPK23040003 0 -0003
1 m3
24. 02 % 49, 00% 26. 98% 0. 00% 11
( ) ( ) ( )
< > ( ) KTPCOO0OO018
0. 8m3( 0. 6m3) 24. 02 % 10, 900 8, BOPTOO0O0 18
0. 8m3( 0. 6m3)
( ) RTPC000Q6
49. 00% 19, 320 25, RO PTOO0O0Q6
TTPCOOO 13
26. 98% 144 T¥FBTOOO0 Y3
EPOO1
113. 3 0
A=1
113.2345 = 118. 7900 *
([ 24.020/100*10, 900/8,800]) * [24..020/ 24. 020]
+ ([49.000/200*19, 320/ 25,3001]) * [ 49. 000/ 49. 000]
+ ([ 26.980/100*144/ 138]) * [26. 980/ 26. 980]
+ [100-24.020-49.000-26.980]/7100

05 -

*xxxxx_00004-10



0-0012
( ) SPK23040007 0 -0004
50, 000m3 1 m3
44. 49 % 35.67% 19.84% 00 % 22
( ) ) )
( ) ( ) MTPCOO01H3
2014 44.49% 21,600 2014 21| MOUPTO001H3
0.8/ 0.6m3 0.8/ 0.6m3)
( ) RTPC0O0O0(6
35.67% 19,320 25, RUPTO000(6
TTPCOO0O13
19. 84 % 144 T3BT00013
EPOO1
211. 8 0
A=1 B=1 50, 000 m3
211.7143 = 229.0500 *
([ 44. 490/ 100*21,600/21,600]) * [44.490/44.490]
+ ([35.670/100*19,320/25,300]) * [35.670/35.670]
+ ([19.840/100*144/138]) * |[19.840/19.840]
+ [100-44.490-35.670-19.840]/100

05 -

*xxxxx_00004-10



SPK23040002 0 -0005
( DI D 49.5km (22.5km25. 3km 1 m3
46.25% 38.07% 15. 68 % 0. 00 % 3,409
( ) ( )
[ ] [ ] MTPCO0O0O018-
10t 46.25% 21, 96710t 20, MBPTO000 18"
( ( ) ) ( ( ) )
( RTPCO0O00Q7
38.07% 17,535 21, RUPTOO00(Q7
TTPCO0O0O013
15. 6 8% 144 TEBTO00013
EPOO1
3,393 0
A=1 B=1 0. 8m3( 0l 6m3)
c=1 ( ) D=1 DI D
E=51 49.5km (22./5km )
MTPC00018T1 = “ )y o+ * 1.01)
= |1,430|* (830 / |180) + (14,740.0) + 667 21, 9p 7
3,392.2981 = 3,491.5000 *
([46.250/100*21,967/20,667]) * [46.250/46.250]
+ ([38.070/100*17,535/21,100]) * [38.070/38.070]
+ ([15.680/100*144/138]) * |[15.680/15.680]
+ [100-46.250-38.070-/15.680]/100

05-******-.00004-10



0-0014

S10500109 0O -0006
10
RTPC0000O9
0.278 24,150 6,713
9
RTPC00001
0.278 21,000 5,838
9
RTPC00O00O?2
0.278 16, 800 4,670
9
FOO00000001
110*110cm 10 3, 650 36,500
FOO00000002
10 3,591 35,910
- 28 _ ( ) S9035 0-0007
2.9t _ 0.8m3 0.278 50, 700 14,094
#09
4 0% 17, 221 675
10 04, 400
1 10, 440
A=1 B=1 ( )
C=2 F ( m3
= 1 * 10 / D = 1 *| 10 /|36 = 0.27]8 ( 4 3
= 1 * 10 / D = 1 * 10 / 36 = 0.278 [ ) 3
= 1 * 10 / D = 1 * 10 / 3B = 0.278 ( ) 3
= 10 / D = 10 / 36| = 0.278 ( ) 4 3

* * * * * %

05 -

-00004-10



0-0015

- 28 _ ( ) S9035 0 -0007
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
104.00 L 144 14,976
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.39 11,800 16, 402
#91
1 2
1 50,700
A=21 _ 0.8m3 pB=104 L/ )
c=1 ) D=1.39 ( /)

05_******

-00004-10



0-0016

S0822 0O -0008
6 m 10
RTPCOO0O0O0O09
0. 069 24|, 150 1, 666
RTPCO0OO0O0O01
0. 069 21, 000 1, 4409
- 28 ( ) S9035 0-0009
2.9t 0. 8m3 0. 069 45, 420 3,133
#91
1 0
10 6, 248
1 624
A=2 B=1 6m
= 1 10 / D = 1 *| 10 [/ 144 = 0.069 ( ) 4 3
= 1 * 10 [/ D = * 10 |/ 144 = 0.069| ( ) 4 3
= 10 [/ D = p0 [/ 144 = 0. 069 () 4 3

05-******-.00004-10



0-0017

- 28 _ ( ) S9035 0 -00009
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
78.00 | 144 11,232
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.26 11,800 14,868
#91
1 0
1 45,420
A=21 ~ 0.8m3 PB=78 L/ )
c=1 ) D=1.26 ( /)

05_******

-00004-10



0-0018

S0822 0O -0010
6 m 10
RTPCOO0O0O0O09
. 116 24|, 150 2,801
RTPCO0OO0O0O01
. 116 21, 000 2,436
RTPCOO0O0O0O0O?2
. 116 16, 800 1,948
- 28 ( ) S9035 0-0011
2.9t 0. 8m3 . 116 48,910 5,673
#91
2
1 12,860
1,286
A=1 B=1 6m
= 1 *~ 10 [/ D = 1 *, 10 /| 86 = 0.116 ( 4
= 1 * 10 [/ D = 1 * 1 / 86 = 0.116 | ) 4 3
= 1 * 10 [/ D = 1 * 1 /| 86 = 0.116 | ) 4 3
= 10 / D = 11 / 6| = 0.116 ( ) 4 3

05 -

* * * * * %

-00004-10



0-0019

- 28 _ ( ) S9035 0 -0011
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
94 .00 | 144 13,536
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.36 11,800 16,048
#91
1 6
1 48,910
A=21 _ 0.8m3 =94 L/ )
c=1 ) D=1.36 ( /)

05_******

-00004-10



( ) SPK230400014 0 -0012
2. 5m 1 m3
0. 75% 98. 99 % 0. 26% 0. 00% 5,9
( ) ( ( )
< > ( ) ( ) KTPCO0O0O0OO0OG
0.8 1.1t 0. 75% 1,960] ] 1, BE&8PTO00O0C
0.8 1.1t
RTPCOOOG
90. 32% 16, 800 22, BOPTO0O0OC
RTPCOOOG
8. 67% 21,000 25, ROIPTO0O0OC
TTPCOOO1
0. 26% 144 T3IBTOOO1
EPOO1
4,525 0
A=1 2.5m
4,524, 5503 = 5,926.7000 *
([0.750/100*1,960/1,560]) * [0. 750/ 0. 750]
+ ([90.320/100*16,800/ 22, 300] + [8.670/100 * 21,000/ 25, 700]) [ 98] 990/ (90.
+ ([0.260/100*144/ 138]) * [0.260/ 0. 260]
+ [100-0.750-98.990-0.260]/100

05 -

*xxxxx_00004-10

NN

=



( ) SPK230400014 0 -0013
2. 5m 1 m3
0. 75% 98. 99 % 0. 26% 0. 00% 5,9
( ) ( ( )
< > ( ) ( ) KTPCO0O0O0OO0OG
0.8 1.1t 0. 75% 1,960] ] 1, BE&8PTO00O0C
0.8 1.1t
RTPCOOOG
90. 32% 16, 800 22, BOPTO0O0OC
RTPCOOOG
8. 67% 21,000 25, ROIPTO0O0OC
TTPCOOO1
0. 26% 144 T3IBTOOO1
EPOO1
4,525 0
A=1 2.5m
4,524, 5503 = 5,926.7000 *
([0.750/100*1,960/1,560]) * [0. 750/ 0. 750]
+ ([90.320/100*16,800/ 22, 300] + [8.670/100 * 21,000/ 25, 700]) [ 98] 990/ (90.
+ ([0.260/100*144/ 138]) * [0.260/ 0. 260]
+ [100-0.750-98.990-0.260]/100

05 -

*xxxxx_00004-10

NN

=



00022
( ) SPK23040007 0 -0014
( ) 1 m3
28. 44 % 59.55% 12.01% . 00 % 1,01
( ) ) ( )
( ) ( ) MTPCO0O0O0€§?2
2 28. 44% 8,190 2 7, MOUBPTO00042
0.281/ 0. 2m3 0.281/ 0. 2m3
( ) RTPCO0O00dS6
59.55% 19,320 25, BRUPTO0O00d6
TTPCO0O0O013
12.01% 144 TEBTO00013
EPOO1
892.7 0
A=1 B=14 ( )
MTPCO0O0O6 2 = | / y o+ ( * 1.01)
=713 * | (690 / 180) + (5,478.0) 8, 190
92.6266 = 1, *
([ 28.440/100*8,190//7,700]) * [28.440/28.440]
+ ([59.550/100*19,320/25,300]) * [59.550/59.550]
+ ([12.010/100*144/138]) * |[12.010/12.010]
+ [100-28.440-59.550-/12.010]/100

05 -

*xxxxx_00004-10



0-0023
1 2 SPK23040002 0 -0015
( ) DI D 1.0km (0.2km ) 1 m3
25. 13% 61.92% 12. 95% 0.00% 85
( ) ( ) ( )
[ ] [ ] MTPCO0O001 7"
4t 25.13% 7,7934t 7, MZBT000 7"
( ( ) ) ( (
( ) RTPC000(Q7
61. 92% 17,535 21, ROUPTO000(Q7
TTPCOOO13
12.95% 144 IT¥FBTO00O013
EPOO1
781.5 0
A=2 B=5 0. 28 m3( 2m3)
c=1 ( ) D=1 DI
F=5 1.0km (0.2km )
MTPCO00017T1 = o ( / Yy o+ * 1.01) +
= /507 *|(830 / 180) + (5,225.0) + 233 = 7,793
781.4956 = 852.1000 *
([25.130/100*7,793/|7,323]) * [25.130/25.130]
+ ([61.920/100*17,535/21,100]) * [61.920/61.920]
+ ([12.950/100*144/138]) *|[12.950/12.950]
+ [100-25.130-61.920-/12.950]/100

05 -

*xxxxx_00004-10



2 3 SPK23040002 0 -0016
( DI D 1.5km (1.0km ) 1 m3
25.13% 61.92% 12.95% 0.00% 1,02
( ) ( ) ( )
[ ] [ ] MTPCOOO 1
4t 25.13% 7,7934¢t 7, MZBT00O 1
( ( ) ) ( (
( ) RTPCO000Q7
61.92% 17,535 21, RUBTO000Q7
TTPCO0O0O013
12.95% 144 T3BT00013
EPOO1
937. 8 0
A=2 B=5 0. 28m3( 2m3)
c=1 ( ) D=1 DI
F=9 1.5km| (1.0km )
MTPCOO0017T1 = N / )+ ( * J1) +
= /507 *|(830 / 180) + (5,225.0) + 233 = 7,793
937.7764 = 1,022.5000 |*
([25.130/100*7,793/[7,323]) * [25.130/25.130]
+ ([61.920/100*17,535/21,100]) * [61.920/61.920]
+ ([12.950/100*144/138]) * [12.950/12.950]
+ [100-25.130-61.920-/12.950]/100

05 -

*xxxxx_00004-10



0-0025

X1000

Y1BO2

Y1B0201

Y1B020101

Y1B02010101

m3 1,215,600
SPK23040001 1,200 1A813B=5, E=7
( ) m3 1, 21BA= . B= ( ) . E=
Y1B02010102
m3 7,463,520
SPK23040002 1,200 A#81B55, C=1, D=1, F=5
( ) m3 9 3[7A = , B= 0.28m3( 0.2m3) ,|C
), D=DI D , F= 1.0km (0.[2k
SPK23040003 1,200 At13. 3
m3 13BA=
SPK23040007 ) 1,200 A211B81
m3 2 5 4A = ,B= 50,000m3
SPK23040002 1,200 3A893B=1,C=1, D=1, E=51
( ) m3 4, 071A= . B= 0. 8m3( 0.6m3), C=
), D=DI D ,E=  49.5km (22
#0041 c=1
2, 064C=
W0 00 1 1,200 1AZ2020, B=0, C=
2, 064A=000, B= , C=
Y1B0208
808, 721
Y1B020801
808, 721
Y1B02080111
808, 721

05-******.00004-10



0-0026

S10500109 2 10A440B=1, C=2
2 6 1A = ,B= F ( ).C= H
S0822 5 A624B=1
6 m 31A= . B= 6 m
S0822 2 1A286B=1
6 m 32A= . B= 6 m
SPK230400(04 ) 3 4A525
2.5m m3 13BA= 2.5m
FO0O000/00002 3 3,591
107,730
SPK230400(04 ) 3 4A525
2.5m m3 13BA= 2.5m
SPK23040007 ) 6 A8Q92BZ4
m3 5 3A = . B= ( )
SPK23040002 1 2 3 A#81B55, C=1, D=1, F=5
( ) m3 2 3A = , B= 0.28m3( 0.2m3) ,|C=
), D=DI D , F= 1.0km (0.[2k
SPK23040002 2 3 3 Ae37B85,C=1, D=1, F=9
( ) m3 2 BA = , B= 0.28m3( 0.2m3) ,|C=
), D=DI D , F= 1.5km (1.|lok
G00O0O
9,487,841
Z0050 | 7,708,476
655 ,.0.0.0 0.0818
...... 7,708,476
1.0000
655, 000
...... 655000=7708476*0.0851 (d.o0
1.04)
G1000
655, 000
G2000
10,142,841
05-******_00004-10



0-0027

Z0020 | 8,363,476
3,249,.0.0.0 0.3665
...... 8,363,476
1.0000
3,249,000
...... 3249000=8363476*0.3885 (
(0.3665*1.06)
G4000
13,391,841
Z0030 | 2451967=3186910*9487841/ ]
2,452,531
Z0031 17,433,900
4, 628...... 4628=6015*9487841/ 12331649
G4100
2,457,159
G4800
15,849, 000
20038 | 15,849,000
1,584,.9.0.0 0.1000
...... 11,945, 000
...... 1584900=15849000*0.100
G600O
17,433,900

05_******

-00004-10

(0

23



0-0028

SP K2 30400 0-0010 0 1 A=1, B=5, E=7
( m3 1 1,013
SP K2 30400 0-0020 0 2 A=2,B=5,C=1, Db=1, F=5
( ) m3 1 782
DI D .0k m (0.12km )
SP K2 30400 0-0030 0 3 A=
m3 1 113
SP K2 30400 0-0070 0 &4 ) A=1, B=1
m3 1 1
50, 000m3
SP K2 30400 0-0020 05 A=1,B=1,C=1, D=1, E=51
( ) m3 1 3,393
DI D 5k m (22.5km )
S10500/109 - 006 A=1,B=1, C=2
10 10 400
S9035 0 -00028 _ ) A=21,B=104,C=1,D=1. 39
2.9t 0. 8m3 1 50, 700
S0822 0O -0008 A=2,B=1
6m 10 6, 248
S9035 0 -00098 _ ) A=21,B=78,C=1,Db=1. 26
2.9t 0. 8m3 1 4 420
S0822 0O -Qg010 A=1, B=1
6 m 10 12, 860
S9035 0 -00128 _ ) A=21,B=94, C=1, b=1. 36
2.9t 0. 8m3 1 48,910
SPK2304000-0040 1 2 ) A=1
2. 5m m3 1 525

05_******

-00004-10



0-0029

S P K2 3 0400 0-00

40 1 8 )

m3

S P K2 3 0400 0-00

70 1 ¢ )

m3

S P K2 3 0400 0-00

2015

DI D

m3

S P K2 3 0400 0-00

2016

DI D

)

m3

05 -

* * * * * %

-00004-10



0-0030

(0.

9)

6)

(3.

7)

FOOO0OO0OOC(

DO0O0O01
110*110cm

FOOO0OO0OOC(

DOOO2

05 - * * * *

**-00004-10



0-0031

Wo0001

720

05_******

-00004-10



0-0032

KTP
RTP
ETP
MTP
MTP
BRTP
RTP
BTP
RTP
BRTP
TTP

=
O0000000000

[cNeoNololoNoNoNoloeNoNe)
[cNoNeoloNoNoNoNoNoNeNe)

=

09096
09098
09198
0H502
1H603
09091
09092
09096
09097
09099
09193

2]

[« =
PR NPRPUONO®WWR R

O O OOWOOOOUVOvOo
OQWNNWUIOoOEF, 00NN
PWOOIoOoWhrNAELO
HROOWOOoOOoOhMOOOMm
[cNololololoNelNo]

o8]

<2 >
<0 >
<0 >

—~~ A~~~

05 -

* * * * * %

-00004-10



0-0033

Y1BO 2
9,487, 8431, 0127, 405
Y1B0201
Y1B020101
Y1B020101011
mg
S P K2 3 0 400-000010 1
( ) m3 00 1,215,600 625, 200
Y1B0201010p2
mg
S P K2 3 0 400-000020 2
( m3 00 937,800 525,600 750m
DI D 1. 0km (0..2km )
S P K2 3 0 400-000030 3
m3 00 135, 960 52,800
S P K2 3 0 400-000070 4 ( )
m3 00 254,160 73,200
50 000m3
S P K2 3 0 400-000020 5
( m3 00 4,071,6010 324,800 25. 3km
DI D 49. 5km (22.5km )
#0041
1 2,064,000 0
WO 001
00 2,064,000 0

05-******.00004-10




0-0034

Y1 B0208
Y1B020801
Y1B02080111Q1
S1050010109- 0006
25 261, 000 56,475
S0822 0-0Q08
6 m 50 31,200 22,200
S0822 0-00Q010
6m 25 32,150 23,550
S P K2 3 0 400-000041 2 ( )
2.5m m3 30 135, 750 133,560
FoOoOOOODOOOR
30 107, 730 0
S P K2 3 0 400-000041 3 ( )
2.5m m3 30 135, 750 133,560
S P K2 3 0 400-000071 4 ( )
m3 60 53,562 27,540
( )
S P K2 3 0 400-000021 5 1 2
( ) m3 30 23,445 13,140
DI D 1. 0km (0..2km )
S P K2 3 0 400-000021 6 2 3
( ) m3 30 28,134 15,780
DI D 1.5km (1..0km )

05-******-.00004-10



